B-2384(1)

VIDEC
B $% & BA &
INSTRUCTION SHEET

HT4PH FEEFIERAYFH—F <HTIZ-4PG1>
HT4P Emergency Stop Switch Guard <HT9Z-4PG1>

COER, IDECHREZERBLIFNELEE, HONESTINET., TENDHRICRHENDEND
CHRDIZ, ABORNBELIIBTAHNELEE, EULITEALESY, FE. ABREFI—T -

[CTREICRELLZS,

Confirm that the delivered product is what you have ordered. Read this instruction sheet to make sure
of correct operation. Make sure that the instruction sheet is kept by the end user.

WaMNZE Packing content
% Name @8 Pcs
HT4P BIFBEIERA v FH—F HT4P Emergency Stop Switch Guard 1
mnL (M3x8) Countersunk Screw (M3x8) 2
5 #E Dimensions
i1 mm
Unit : mm
0
&

18.5

19

AR
W w—ﬁ—wl

Notes for Operation

FERALEOTEE

G

* RRIGHTAPHDIERIEIL R v FH—RTY, HORRICEARUBRNTIIZE),
 ARICFOENBEERR ULBSEERUSNT S0,

+ RREHTAPICID YT BIRIE, MIFHTAPREDERZED > TH 51T o TS,
 ARZEREIDHCEFIEEBREREME LU TR > TESL),

« This optional product is the emergency stop switch guard for the HT4P. Do not use it for other
purposes.

« If you find any scratches or cracks on this optional product, do not use it.

« Be sure to turn off the power to the HT4P before installing this optional product on the HT4P.

» When disposing of this optional product, treat it as industrial waste.

B ®UFrEE

Installation

uB&HERUH

Recesses for the position adjustment
FURE
Gimlet and the like

FEBELERA yFA—F
Emergency stop switch Guard

HT4P

M#a UERYTR
Hole for countersunk screw

28t
Projection

)

Back

(1) FEBBLUERA v FH— FEADRREHTAPKAEDUAEEHE, 2+ v FH— FREOMAL
BT DPONBZDICF I RETINIVICZREITEH T,

(1)  Firt the projection on the back of the emergency stop switch guard into the dent on HT4P,
tand prick the label in he center of the countersunk screw mounting hole of the switch guard by
gimlet and the like.

maLM3x8)

-1

(2 YBROMMPRL (M3X8) ZiEpidly, BRELEXT., CGEEMIITHILD 06N +m)
(2) Tighten the attached countersunk screws (M3X8) to fix it.
(Recommended tightening torque: 0.6N + m)

IDECH A=+t

#  T532-0004 APriE)|KASER 2-6-64
https://jp.idec.com/

ERIREIBEEIC CRBRRAICINE UE S,
HRESEROLCEPNEHEIZE),

IDEC CORPORATION

Manufacturer: IDEC CORPORATION, 2-6-64 Nishimiyahara, Yodogawa-Ku, Osaka 532-0004, Japan
EU Authorized Representative: APEM SAS

55, Avenue Edouard Herriot BP1, 82303 Caussade Cedex, France

UK Authorized Representative: APEM COMPONENTS LIMITED

Drakes Drive, Long Crendon, Buckinghamshire, HP18 9BA, UK

2023.08

https://www.idec.com

2023.08



